HH

e

i i

HE

FTH6FERE REMBARAHBREFRENR

(GRI7TE4H1H)

—REEE |- xEBE BRHB piplikcd .
B X 53 it ;
ARERD BEE aw [anlen] |, [enlza] , , Tes| , . |#% 5| %
B | EHR|EHR T | B ESR B E: 1 7
g?ffﬁ 1TERC (R HA) 128 | 114| 69| 67| 26 | 41| 44| 43| 18 25| 32| 13 19| 17| 9 &
BTAY
%ii* THRA(6R) 83 65| 30| 30| 78 12| 16| 16| 6 10| 10| 3 7 6| 2 4
SEHIRE
i%ﬁﬁ?ﬁ&A 1 1] o 0
LT
giﬁﬁ-ﬂ%$% 14 14| 11 8| 6 2| 4| 3| 2 1 3| 2 ¢ 3l 2 | ¢
#a A T ) ) )
BBE |(SHE) 89 57| 26| 25| 72 13| 13| 12| 6 6| 11| 5 6 9| 5 4
T & 315| 251 |136|130| 62 68| 71| 74| 32 42| 56|23 33|35 |18 17
RipzEg
anz |£ REH 5 5 a 2| 2 ol 2| 4| 4 ol 31 3 of 3| 3 o0
RipzEg .
anz |£ KR(6A) 10 5| 3 3| 3| 0 2 21 2] 0 11 7] 0 117 0
Ripzeg
Baz  |T AK(A) 1 1 1 11 7 o 1 1| 7] ol 1|1 o0 0
SEHIRE
i%ﬁﬁ_ﬁ AX(6AR) 3 o o 0
LT
giﬁi&i K(QR) 2 2| 2 21 2] 0 2 2| 1 1 2l 2 o 212 0
gEA |- )
gz (TRI(EX) 11 10 7 6| 5 I 3 3| 3] 0 2l 2 o0 2l 2 o
X & 32| 23| 17| 14|23 1| 10) 12| 7221 1| 9| 9 o 8|& o0
RipzEg
An= |2 REH 1 1 0 0
Ripzeg
anx B F6AH) 0 o] o 0
RipzEg
Bn= |B ROA) 1 o] o 0
H2L |mocem s of o 0
#a A |{TIRI (BE)
EBE |mos_i 1 1 1 1 7 0 1 1 7, 0 11 7] 0 117 0
BE i 6 2| 1 1| 1 o| 1 1| 1 o 1|10 12 o0
Prpaal EREACED ol of o 0
R | =
Eaz |E R(6A) 1] of o 0
32 |E 50m) 1] of o 0
g;g THRI(ER) 2 2 1 1 7, 0 1 0 0
g5 & 4 2| 3] 2 2 1 1 ol o of| olo of O|o0o o
Ripzeg .
PEvL R G ) 2 2 1} 1| 7 o o 0
RipzEg
Bax |# H(6R) ol of o 0
g;g 1TELO (H4) 1 1 1 11 7 0 1 11 7 0 11 1] 0 117 0
i &t 3 3| 2| 2| 2 of| 1 1\ 1 o 110 1z o0

1/2




L

H Tt 55

FOA

FTH6FERE REMBARAHBREFRENR

(GRI7TE4H1H)

—REEE |- xEBE BRHB piplikcd .
B X 53 it ;
ARERD BEE an [anlen] |, [ewlza] ,  , Tes|, .|2%[, %
a4 (w%lasw| 7 O |Ew%la| 7 | O |w%]| 7 -~
Xl 268) i il 1l 1] 7 o o 0
Prpaal A ICT) i 1] o 0
H2L |AmIdes s| sl | 8| 2 2| 2| 2| 1+ s 2|z | 1o s
2 & 5 5| 4| 4 3 1| 2| 2| 7 1| 2|1 1| 1|0 ¢
RipzEg
Bp= |R BT 8 8| 6 6| /| 5] 6 6| 7| 5| 6| 7 5 Bl 71 4
EHIAS
2#%)‘& B’ E 14 14 71 7| 7 6| 4| 4| o 4| 4| 0| 4 4| 0 4
e PN
ens R B T 7 6| 4| 4| 2 2| 3 3| 2| 1 3| 2 7 3| 2 1
BREt & 20| 28| 17| 17| 4 13| 13] 13| 3| 70| 13| 3 10[|12 | 3 9
REPEE |
Bne H OB 24 20| 7 71 7] 0 5 5| 5] 0 a4l 2 0 3|3 o0
B
2#%;‘& O 21 15| 9 9 9 o] 5 4l 4, o 4| 4 o0 41 2 0
HEA |
anz H OB 10 71 5 5] 5| 0 2 21 2] 0 2l 2 o 117 0
%gi* WAEKHT 9 8| 4| 4| 4« ol 3] 3| 3 o| 33 of 3|3 o
TR [ e o
ZERA ;((%)‘“_z‘f;&“"i 15 1l 71 7| 7 ol a4l 4| 4| o| 2| 2| 0 117 o
%
BHKRZ gt 2 gt o
EEEA f%g?“"i s| 5| 2| 2 2 o 1| 1| 1 o 1|z o 17 o
=
B &t 84| 69| 34| 34|32 o0 2] 19|79 o| 16|16 0|18 |23 o0
Rz (@it
R2% |(68) 2 ° 0
RyEzg(F = B
BaE | (e 9 9| 7 171 2 5 3 2| 1 I 2l 7 1 21 7 | 1
Rpxzg(¥ X B ,
Rng | (zme 1" 1| 4| 4| 3 1| 2| 2| 2| o 2] 2| 0 212 o0
gifﬁ FRRIRE D 3 3| 3 2| 0| 2 1 1| 0o 1 0 0
Ripzg
PES 20 9 11y 11| 20| 7 71 0o 7| 5|0 &5 510 | 5
REPEE e
Baz B E A 2 2| 2| 2| 2 1| 2| 2| 1] 1| 2|1 1 217 1
EHIAS
2#%)‘& BRER R B AT 1 1| o 0
HEA |5
cns |X Al B 1 1 1 11 7 0 1 1| 71 o o 0
A . , ,
sns (FREAL 2 2| 2 21 o 2| 2 21 o 2| 210 2 210 2
e |-
s Ho ] 4 4| 2 2| 1 I 2 2| 1 I 2l 7 1 21 7 | 1
RET | —mEE 17] 13| o 0
&5t 551 | 449 |246 | 235|130 106 (145|141 | 74 67 (11359 54|86 |49 37

MM—RARERRE (L, FPEEBEREEHFT .

2/2




